PHYSICS 1A
Quiz #3B

H. E. Smith

be considered for partial credit. GOOD LUCK!
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1. You push a 100kg crate 10m across the floor with a horizontal force of 200N. The coefficients of
friction between the crate and the floor are ps = 0.2 and pg = 0.1. If the crate starts at rest, the
final speed is about

a) 1 m/s

b) 2 m/s

c) 4.5 m/s

d) 20 m/s

e) 22.5 m/s.

2. A student lifts a 20 kg box to a height of 1.5m, then walks a distance of 10m. The work done
by the student is about

3. A mass, M, is attached to a massless rod with length, L, to act as a pendulum. The mass is
lifted through a 90° angle so that the rod is horizontal, then released. At the bottom of its swing
the pendulum has velocity

a) v=+/2gL
b) v =gL

c) v=(g9L)°

d) v= MgL

e) v=+/MgL

4. Two Physics 1 students of equal mass sit at the top of a playground slide which makes an angle
of 45° with the ground. Student #1 falls off the slide (vertically downward) as student #2 starts
sliding downward. Assuming that they both start off with K E = 0, then, when they reach the
ground

a) KE2 = 2KE1

b) KE, = V2KE;

C) KE2 = KEl
d) KE, = Z:KE,

e) KE, = KE;

5. A car traveling at v = 10m/s skids to a stop in a distance of 10m. If the same car is traveling
with v = 20m/s, how far will it skid before stopping?
a) 14m.
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Name ID # A

6) (13 pts) A sled with mass m = 50kg slides up a hill at 30° inclination and then back down as
shown. The velocity of the sled as it starts up the hill is 7m /s and it experiences a frictional force
of 50N both on its way up and on its way down. How far up the hill does the sled slide?

d=

In the spaces below draw graphs of the KE, PE and total mechanical energy of the sled as a
function of time.



